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QUESTION 1

Which of the following phenomenon results in decreased signal levels due to passing through a solid structure? 

A. Reflection 

B. Absorption 

C. Attenuation 

D. Refraction 

Correct Answer: B 

 

QUESTION 2

Which of the following should a mobile administrator deploy to prevent sensitive company information from being
transmitted to an employee\\'s personal email account? 

A. Transmission encryption 

B. DLP system 

C. Content filter 

D. Mobile antivirus 

Correct Answer: B 

 

QUESTION 3

Which of the following strategies helps mitigate risk of data loss in a BYOD solution? 

A. Firewalling 

B. Content filtering 

C. Antivirus implementation 

D. Containerization 

Correct Answer: D 

 

QUESTION 4

Joe, a mobile user, calls the help desk inquiring about his access to the Campus Area Network (CAN). The
administrator uses the troubleshooting methodology to determine that the Access Point is unable to connect to the main
campus. The administrator visits building B and notices that the Access Point has failed. Which of the following is the
MOST likely cause of the problem? 
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A. The Smart Device is on the wrong VLAN. 

B. Joe called the administrator using his Smart Device. 

C. The PoE adapter did not recover. 

D. Network traffic dropped because of a bad NIC. 

Correct Answer: C 

 

QUESTION 5

If a user\\'s device is compromised, it is best practice to FIRST: 

A. Wipe the device. 

B. Capture the logs. 

C. Lock the device. 

D. Document the incident. 

Correct Answer: B 
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